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All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %

1 1574 4.9 1.3 6 81.3 100

2 1574 4 1.6 6 67.1 100

3 1573 4.2 1.6 6 70.6 99.9

4 1571 3.6 1.6 6 60.6 99.8

5 1568 4.1 1.4 6 68.9 99.6

6 1574 5.1 1.8 8 63.8 100

7 1574 3.8 2.1 8 47.6 100

8 1573 3.9 1.9 8 48.4 99.9

9 1572 2 1.7 6 33.4 99.9
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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Question 4 [6] 
 
(a) La pollution (d’air)/les arbres intelligents/les arbres de ville (any 1) (1) 
 


(b) (i) Description du mur : 
 
Écris un détail. 


4m de haut/composé de végétation/un mur 
végétalisé (any 1)  (1) 


 (ii) L’action du mur : débarrasser l'air des gaz/nettoyer 
l’air/dépolluer (1) 


 (iii) L’effet sur l’air près du mur : l’air est plus frais  (1) 


 
(c) (l’eau de) pluie (1) 


panneaux solaires/énergie solaire/soleil (1) (2) 
 
 
Question 5 [6] 
 


Où le concours a lieu : Oceanside/Californie/aux Etats-Unis/en 
Amérique (1) 


Classement de Paul Grieumard au dernier 
concours : 


deuxième (1) 


Ce qu’on utilise pour faire ce sport : 
 
Écris deux détails. 


 des palmes 
 


 le corps (2) 


Ce qu’il faut faire comme préparation : 
 
Écris deux détails. 


 compétitions de natation/nager (bien) 
 


 (2 heures) d’entrainement par 
jour/s’entrainer tous les jours (2) 


 
 
Question 6 [8] 
 
(a) this is the first time/once (1) 
 
(b) agrees with them (1) 
 
(c) too many people/site too small/not suitable for number of people (1) 
 
(d) queues for food/queues for toilets/no time to eat (any 2) (2) 
 
(e) stalls closed (early) (1) 
 
(f) because there are lots of young/little/underage girls at the festival (1) 
 
(g) money making machine/all about money (1) 
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Sticky Note

The second half of this question is unclear and cost a mark. 'Des panneaux solaires' would have been enough to gain a mark. 



Sticky Note

Again, lifted from text and answers the question without ambiguity.



Sticky Note

Lifting from the text is acceptable as long as it answers the question and makes sense. This is a perfect answer. Some candidates stopped after the word 'l'air' which clearly makes no sense.



Sticky Note

Needed a detail describing the wall not the trees. Attention to details.



Sticky Note

This doesn't need to be a long answer or full sentence. It just needs to sum up what the article is about. '
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Sticky Note

Candidate has written 'scolaire' not 'solaire' and the second half of the answer makes no sense.



Sticky Note

The essential information has been omitted.



Sticky Note

One word is enough to secure the mark
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Sticky Note

All correct sections taken from the text. Excellent answers.



Sticky Note

Excellent answer with good manipulation of the French.
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Question 4	 [6]


Lis cet article. Réponds aux questions en français.


Des arbres « connectés » pour lutter contre la pollution d’air


Trois « arbres de ville » viennent d’être installés à Paris. Créés par une entreprise allemande, 
ces « arbres » intelligents sont des murs végétalisés de quatre mètres de haut, composés de 
végétation. Ils sont capables de débarrasser l’air des gaz à effet de serre. Ce mur végétalisé a 
la même capacité de dépolluer que 275 arbres. À cinq mètres de distance, l’air rejeté autour du 
mur est plus frais, environ à 17°C. Le mur est facile à maintenir car l’eau de pluie récupérée 
permet d’arroser la végétation, et il est alimenté en énergie par des panneaux solaires. Des 
systèmes similaires ont déjà été installés en Allemagne et en Norvège.


Adapted from « L’actu » issue 5051, 3rd August 2016


	 (a)	 De quoi s’agit-il dans le texte ?	 [1]


	


	 (b)


  (i)	 Description du mur :


	 Écris un détail. [1]


 (ii)	 L’action du mur :
[1]


(iii)	 L’effet sur l’air près du  
	 mur :


[1]


	 (c)	 Qu’est-ce qu’on utilise pour maintenir le mur ? Écris deux détails.	 [2]


		  •   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .


		  •   . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .
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Question 4 [6] 
 
(a) La pollution (d’air)/les arbres intelligents/les arbres de ville (any 1) (1) 
 


(b) (i) Description du mur : 
 
Écris un détail. 


4m de haut/composé de végétation/un mur 
végétalisé (any 1)  (1) 


 (ii) L’action du mur : débarrasser l'air des gaz/nettoyer 
l’air/dépolluer (1) 


 (iii) L’effet sur l’air près du mur : l’air est plus frais  (1) 


 
(c) (l’eau de) pluie (1) 


panneaux solaires/énergie solaire/soleil (1) (2) 
 
 
Question 5 [6] 
 


Où le concours a lieu : Oceanside/Californie/aux Etats-Unis/en 
Amérique (1) 


Classement de Paul Grieumard au dernier 
concours : 


deuxième (1) 


Ce qu’on utilise pour faire ce sport : 
 
Écris deux détails. 


 des palmes 
 


 le corps (2) 


Ce qu’il faut faire comme préparation : 
 
Écris deux détails. 


 compétitions de natation/nager (bien) 
 


 (2 heures) d’entrainement par 
jour/s’entrainer tous les jours (2) 


 
 
Question 6 [8] 
 
(a) this is the first time/once (1) 
 
(b) agrees with them (1) 
 
(c) too many people/site too small/not suitable for number of people (1) 
 
(d) queues for food/queues for toilets/no time to eat (any 2) (2) 
 
(e) stalls closed (early) (1) 
 
(f) because there are lots of young/little/underage girls at the festival (1) 
 
(g) money making machine/all about money (1) 
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Sticky Note

The answers here are good. The candidate has selected enough from the text to answer the question and avoid ambiguity. The final part gives 2 different details as required, and not 2 details about swimming, as many candidates did.
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Sticky Note

Two details of the same nature so only 1 mark awarded.



Sticky Note

Information missing on the second part of this answer which, therefore, does not answer the question.
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Sticky Note

A good example of short answers that answer the question with no ambiguity. 
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Question 5	 [6]


Lis l’article au sujet du bodysurf. Complète les informations dans le tableau en français.


Un Français de 16 ans champion du monde de bodysurf !


Le 24 aout, 500 nageurs du monde entier se sont présentés aux Championnats du monde de 
bodysurf à Oceanside, en Californie. Le Français Paul Grieumard, lycéen de 16 ans, a participé 
à la compétition en famille, avec son père (dans la catégorie 45-50 ans) et sa sœur de 13 ans. 
En 2013, il s’était classé deuxième chez les moins de 14 ans.


Il a dit : « L’objectif de ce sport est de surfer sans planche sur les vagues. On utilise des 
palmes pour prendre de la vitesse et on glisse sur l’eau avec son corps. On est en contact 
direct avec l’eau. » L’objectif est de maintenir une longue glisse sur les plus belles vagues, tout 
en faisant des mouvements.


Paul a dit : « Aux championnats du monde, on avait 15 minutes pour surfer trois vagues.  
J’ai eu de la chance : à chacun de mes passages, j’ai eu les meilleures vagues ! Il faut bien 
savoir nager pour pratiquer ce sport. D’ailleurs, je fais aussi des compétitions de natation en 
piscine. Et je m’entraine deux heures par jour. Ma passion pour le bodysurf me vient de mon 
père. C’est lui qui nous a initiés, ma sœur et moi. Pendant les vacances et les weekends, nous 
nous entrainons à Biarritz. »


Adapted from: L’actu issue 4777, 10th Sept 2015


Où le concours a lieu :
[1]


Classement de Paul Grieumard au 
dernier concours :


[1]


Ce qu’on utilise pour faire ce sport :


Écris deux détails.


•


• [2]


Ce qu’il faut faire comme préparation :


Écris deux détails.


•


• [2]
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Question 9 – Translation [6] 
 


La première ligne du tramway a ouvert ses portes en 2004. Elle a non seulement réduit la 
congestion routière mais a aussi créé une ville plus propre. D’autres tramways sont prévus 
et seront établis à l'avenir. Il y aura des lignes qui iront au nord, vers le centre commercial et 
l’aéroport. 


 


French *Reward 1 mark for each section 


La première ligne du tramway a ouvert 
ses portes en 2004. 


The first tram line/service/tramway/opened its 
doors/started/opened in 2004. 


Elle a non seulement réduit la 
congestion routière 


It has not only reduced road/traffic 
congestion 


mais a aussi créé une ville plus 
propre. 


but has also created/resulted in a 
cleaner town. 


D’autres tramways sont prévus  Other tram lines are planned  


et seront établis à l’avenir. and will open/be established/be built in the 
future. 


Il y aura des lignes qui iront au nord, 
vers le centre commercial et l’aéroport. 


There will be lines going North, towards the 
shopping centre/commercial centre and the 
airport. 
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2 marks



Sticky Note

Only the last 2 sections are completely correct and contain all the elements that need translating. The first sentence does not make sense. The second sentence contains incorrect translations. The start of the third sentence is also incorrectly translated. 








1 mark


1 mark


1 mark



Sticky Note

A mark has been lost in the final sentence because the candidate has used an incorrect preposition, changing the meaning of the sentence. Attention to small details such as this is very important to maximise marks.








1 mark


1 mark
1 mark


1 mark



Sticky Note

A good example of a well-translated text. Marks are only lost where the candidate is unsure of singular items of vocabulary but tenses are correct and all details are included in the correct sections.
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Question 9 – Translation	 [6]


Read this extract from a website about transport in Nottingham and translate into English.


La première ligne du tramway a ouvert ses portes en 2004. Elle a non seulement réduit la 
congestion routière mais a aussi créé une ville plus propre. D’autres tramways sont prévus 
et seront établis à l’avenir. Il y aura des lignes qui iront au nord, vers le centre commercial et 
l’aéroport.


Write your answer below.


	


	


	


	


	


	


	


	


	


	


	


	


END OF PAPER











